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They came and decreed on the earth to be burnt

Overview

The X713 needed to reconcile the Xn»72 which stated that 3371 72 01" 7TV 12 901 were
NP0 M2 on 2MYT YR and glassware, and the statement of X172 27 that eighty years
before N2 12711 they were X0 M3 on DY IR and N°2137 °22. The X3 initially
answered that originally they (the two 01 ") were M3 to burn, only something
which came in contact with the ground of 2°n¥77 X but not on the airspace at all,
and later (73w ' before the j2717) the 77°13 was to be 7730 for the airspace of Y
o°nyi. Our Moon explains how is the question regarding n°2101 °3 answered.

nooIN asks:
- >Nyponn 29y H1rax ‘8195 {190 RY 1199191 Y9911 YD)

And there is a difficulty, for the X713 did not answer at all regarding n°>127 553,
even according to the conclusion of the x 3!

mooIn responds to an anticipated answer:
- *RUNN 12P0NTI GITUD 1) 9IDAT MINT 5PIIDTNR 913N NIPIYNT 9913910 XY XNNT

For we cannot answer that originally (by the two "0 1) they were 91 to be
70 for glassware and eventually they were =13 to burn for n°211, as we

concluded regarding XwM3, this cannot be -
- 51175 199919 DI9NY NY 51929198 99N
For we do not burn on account of the X210 of nv2127 392 as the X3 states later -
- DYUTDY NNPYIN NYY PIYSY K91 *NI9N 1339 Ay

! Was it the two >0 "1 who were X0 M3 on N°17 *93, or was it 127717 %199 mw 'd (much later than the two 01 ™).

2 moon is saying that not only is the first answer of the X3 certainly not addressing the issue of n°3131 3 (which is
not such a big question, for we can say the X3 addresses it later), but even at the conclusion of the X723 the issue of
n°3107 °%3 is not addressed.

3 The X3 finally concluded; the two 0¥ "1 were q13 on X2 to be 7210, but nothing on X1MX, the 1127 of 71w '5 were
am13 on both X and R1™X to be 7910, and in XWX they were N3 on 17W5 Xwia and R1"IX remained nY?n%. That does
not address the issue of n°3137 *23; only DY YIX.

* According to this proposed answer (which Mmoo accepts later), the answer on N1 *»3 (that first m>n2 11 and
later AW 1713) was only given later; however the first answer (717W% XK 1713 7210 and later M?n? XMIRR), does
not address the issue of n°2121 °73 at all. See footnote # 13.

7 X, 10,

® The 1127 ruled that n°>131 *%3 *LWd are not aXAW 23pn. People will then realize that they are not Xn» R K1Y
(otherwise n°2131 °%3 w5 would be AR™W Hapn), therefore if WP 717N come in contact with 2RAY N1 ¥H3
(132171), we will not burn the 2>w721 7m0, It is evident that there is no 79w 1°7 by 2°Xnv n°3157 %9,
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That the 3221 made a distinction regarding n°2137 °%2 in order not to burn 72110
25w7?Y on account of it. We see there is no 79w 77 by n°3127 *9).

Mo0IN answers:
- DYUTD) NP PNV PNT 1PY N )2y NNV KPITT 15 v

And one can say; that it is only regarding nx8»w which the n°>101 *5 acquired
from their back (outside) that the X713 states later that we do not burn 790

Q%7 which come in contact with this type of 13131 °%3 nxmw -
- Tmann 5959 10 1T DIYM NIN NIV 1ONT

For n°>107 °92 are 3232 X»w only because they were compared to metal utensils -
= DOV N12I9N D299Y 929Y DN D HINNN PRNVNN MNMIV INY DAN

However if the n°2157 °95 became &nv with other nix»w, which are X»w» with the

rules of 217 ¥, in those cases we will indeed burn 2°w7Py 72170, which came into

contact with those 2Xnv N°3137 ¥90 -
- 09491 1999 Y9129 197 N1

Since n°>107 °% are totally similar to o917 595,

- Pinmy 19 waah 9998 ran 1893 19
And even without this complication, it is necessary to explain it in this manner
later in the x.

mooin offers an alternate solution for his question:
= 111993919 192D NDY M) NIPIYN NIN NIN 09T 09990

And according to those texts which read here, ‘rather initially they (the two "

7 moon accepts the v X2°% KT, that initially they were 93 only mbn by n'2151 *»3 and later they were 93
AW, for there are two types of M which the n°>131 *93 can contract; if they become &nv from their outside we
do not burn 2>w71 717N which came in contact with them; however if they became Xnv from the inside, we are 7w
w7 710, which came in contact with them.

¥ Something xnv touched the backside (the outside) of the n»>2r *»3; in this regard n°2131 %93 are different from *93
011, for 071 °7> (earthenware) do not become Xnv if their outside came in contact with a Xav 127 (even if it is a IR
XN*>7RT), rather 0717 *25 become Rnw only 1910n; if the IRMY entered their airspace

? See footnote # 10.

19 noo191 93 are very similar to 071 %23 since they are both made from earth/sand. Therefore the 7127 initially were 21
TRMIY on N137 *9 (so people would not be lenient by 0711 °73) and that would only be by a 1911 nxmw like 071 °53.
However since n®3107 °23 can be reformed after they are broken just as nann *73 can (they are both melted down and
recast again), therefore the 0'»om were also 713 a J231 78 on N°2157 °73. However in this 77713 they limited it (that
o131 °20 "WIWs are not RNV 72PN) in order " WY X2w for a j1axa axmw. However for a 191nn axmw since they are
0717 9729 MnaY o7, the 7T is even WY,

' Even if there would not be the question how to resolve the contradiction as to who was X2 13 on N217 *93, we
would still need to differentiate whether the n°3101 °25 became j23 v (where we are not A"Ww) and where they
became j011 Rnv (where we are w71 7170 ANW).

12 See »72v 1"7 X,10 '0)n (and in TIE there [footnote # 11] 7"v2).
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°071’) were 9113 but the people did not accept it from them -
= 91199399 99279 19T NIV DINNIVYT 1929 INN)Y

And the 3329 of mw 's decreed and they did accept it from them’; that was the
answer. To which the X713 challenged -
=919 NOYIN 9NN 919YY NN NI RTNT XIINIY

‘do you mean to say that there was one ;7913 to burn, but X578 taught, etc. that
only °7> was WY 1N7°1A N9nN’, but not 2°»Yi ¥R and n°197 °%5. According to this X071 -

1NN PRPP NMIPYWA 593 1199191 9997 99V NN
It works out well for the question on n¥2121 92 as well, was answered with the
first answer.

Summary
The answer regarding n°2137 °2> may be only X1pon? that 3"nRY mM>n% 171 720N

MY (since we are MW for N131 °23 by a 19IM IRM), or the answer could have
been given initially if we are 07 that 122p 3"1RY 192 R 7m0,

Thinking it over

1. nooIn asks that the X3 does not address the issue of n°2107 °%5. However it is
possible to say that there was no need to give an answer to this question since we
can use the same answer'* that was given regarding 2> nxm," that first they were
XMV INA (on 12137 °92) only for o°w7p and later they were 2113 for 77170 as well.'®

2. According to the 0737 0°790 is the final answer of n°2127 *%2 the first answer (1727 X7
and 122p)," or they also agree that the final answer is first m2n> and then'® mws?

3. According to the *0737 0790, why did the X7nx assume that the 22p X?1 773 7200
1 was for 19w, so there is the question of X99°X, perhaps the 1%rn (and the
2"1RY) was just mon9?"

" According to the *0737 2190 the X»3 initially in its first answer addressed both D°»v7 X and n2131 %9 that first
172 8211713 and later 122p) 113 that answer applies to n°131 °93 as well. See footnote # 4. See ‘Thinking it over* # 2.
'* This answer will not apply to 2*y:1 v for it is highly unlikely that 2°w7p (in the p"»7°2) will be in contact with
0°nyi IR 79Y. Therefore the X3 had to find another answer, but not regarding n»3131 °75.

' X,10 on the very top.

16 See (TrR) R"wAAN.

' The difficulty with this option is the question based on XX that only °7> was 792" I NN,

'8 The advantage of the 0737 090 is then limited since ultimately they agree that it is the final answer which
resolved the n®3127 *73 issue.

19 See 131 TR R"WATN LB wAAR.
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